1. The Rakha Copper Mines are located in : ‘ e
(A)  Jharkhand (B) Odisha (© Madhya Pradesh
(D) Rajasthan (B)  Question notattempted :
TE1 IR G el ferd 7
@) TS ® shfem (© mART
D) TSEH B TR A
2 ‘CAZRY institute is mainly involved in research of
(A)  Animal Husbandry in Desert
(B) Land reforms
(© Mining of Minerals
(D) Sustainable farming systems inarid ecosystem
() Question notattempted
frfafaa # | firg wg § 'CAZRI e e w9 A e &2
(a) fraE H gy
® TER ,
© wfeiwE )
3. The Indian Institute of Space Science and Technology (TIST) was estabhshed in 2007 at :
(A) Thiruvananthapuram (B) Vlshakhapattanam 3 (© Jodhpur
(D) Chennai (B) Questionnot attempﬁed
TRt siafe fagm ok dehfe dem (SRS d.) 2007 % el i fomar T e ?
(a) foeeragE ® . fwmEwew. -Q SR
(o) e (B) Hgara T
4. When an emergency is declared due to the failure of the constitutional machinery in the states. It is invoked
under: '
(A) Article 352 (B) Article356 .. (© Article 360
(D) Article 350 (B) Question not attempt‘ed
T Tl B g 9 i e & wRon mmﬁﬁafﬂxm%mzm AT AT E?
(A) TR 352 (B) TR 356 ;‘?_ © B 360
(D) 3T 350 € AT o
5. " Choose the most appropriate option : E:;;;f
A good official letter need not have - ko
(A) Clarity of language (B) Clarity of subject (©) Latinquotations
(D) Proper salutation (E) Questionnotattempted '
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10.

- (®) A duty free enclave of c!evelop'ment and is deemed as foreign territory for thep

)

What is a Special Economic Zone ?.
(Choose the most appropriate option from below)
(A) Aspecially created area for those with income of 1 crore and above per annu™- RS SR  —
(© Auniquezone which is subjected to higher taxes and duties.
(D) Aspecial zone created in the capital of India for certain entities.
Question not attempted — .

®
forsre oTfefer S TR ? I~

(P A TR IR A ) )

@) uﬁaﬁlmmmﬁafwmigzﬁrﬁ%mmm@ﬁm%'.

®) mmmmmmm,@mm%mammmwz'
(0) U ST 8 S ST ) 3 Yol o 1ef #1

D) RAF TS F e wrenel  fog s T o e 4

(B AR T
Periscope works on the principle of : ot AR
(A) reflection of light (B) diffraction of light ©
(D) refraction of light (E) Question notattempted
Yfeehg forees fagia wad s R ? :
(A) TR TEE ® _ v faada- O TR
O G T o) 5 E o e
The artificial satellite which is seen at fixed"position when viewed from the same location is called :
(A) Polar satellite —=(B) Remotesensing satellite v
(©  Geostationary satellite I~ (D) Non polar satellite
(B Questionnotattempted ” - S O DL R . =
T Fim 39E ol 3e T & sraciet w5 W 9 fife Rt (fheeg i) H @ S E
@A) IR SWE - L33@® e AfET (Remote sensing) STE '
_O wefmwme - Q0@ e ewE e
The ratio of the number of boys and girls in a school is 5 : 6 . If the percentage increase per annum in the number
of boys and girls be 20% and 30% respectively, what will be the new ratio after one year ?

o e i el S el W S 5 : 6 ¥ 1 4K e S crefr #i e & w: 20% 3R 30%
i e fig et &, A T o F AR TSI TG,

scattering of light

T @A) 10:13 ® 11:13 EETEYNG Hey

D) 10:11 . ; (B) _ Questionnotattempted/ SARE v
In India’s context full form of CSIRis: 77 oty "
(A)  Council of Science and Innovative Research. )
(B) Council of Social and Industry Reproduction.”*~ =% * #o s "t
(© Corporate, Social and Industrial Research. J
(D) Council of Scientific and IndustrialRésearch. -
()  Question notattempted C ) v
T ¥ weof H COR F T TIRE? 5y

i 1o L™ ] j
() e Sih AR TS Tt fEsy
B e i S TS 3y foreRm
© i, dve T e fad -
(D) e it aEfefng TS gsfee fad

() STgafa e

, B23 . P.T.O.

CET Paper And Answer Key = Click Here



®

12,

13.

Ny, @

If'<* means ‘minus’, > means ‘plus’, " =" means ‘multiplied by’ antl ‘$’ means “divided by’, then what would be

the value of
31>81$9<7is: ‘p‘“y IO
e i<’ W% o>nm%' Tﬂ%aﬂt $' W%a’f x%
31>81$9 <7 N HH M : ~ ‘\\'\(\,\\ :
@) 33 ®) 37 ¢ 5
O 31 (E) : estion not attempted/ﬂjﬁﬁﬁ a3

Match List-I with List-1L. :zj

List-1 4 List-II

Memorials = Place
(@) Jaswant Singh's Thada ()  Jaisalmer
(b)  Chbhatris of Rulers and Paliwals (n) Bundi
(9 Chaurasi Khambon Ki Chhatri © (i)  Alwar
(d) Fateh Gumbad (iv) Jodhpur
G-I 3 9 gEi-11 1 e i

T - ~

RS
(@) wEq g @ g X
(b) TEHI IR el Bt st
(© SR @i &t gad
@ R TER

Choose the most appropriate answer from @pﬁons given below :
= R e el # | wad Suge SWOEA
@) (@-0),®)-() (- @), (d)-0) <

~B)  (@)- (), (&)- () ()- (i), (d) - (i) 3
© (@-(@), (b)- @), (-0 d)-) ~~
@) (@)-(i), (b)- (), (- (@), (d)-@) = -
() Question notattempted /3TARd T

Which of the following trade policies introduced MEIS- Merchandise Export from India Scheme ?
(A) Foreign Trade Policy, 1991 (B) Foreign Trade Policy, 2015-2020
(©  Foreign Trade Policy, 2021-2024 (D) Foreign Trade Policy, 2004-2009

(E) Question notattempted
frrefafaa # | fFa =R #fs 3 MEIS - wra @ g fFafd dem 3 i 2

(A) e =mr i, 1901 @) fa’w =R i, 20152020
© fadw = #fd, 20212004 ff(ﬁ) ferder =amIm ifd, 2004-2009
B  HHE T )
14. Who has been appointed as the first woman_—f;—gh Commissioner to India by Britain ?
(A)  Alicia Herbert ®) — _Lindy Cameron (© Lilly Gunasekar
(D) Gill Atkinson (E) . Queshon notattempted
fasgm mﬁmumq&mﬁmﬂgﬁmw7
(a) e T (@) ° e e © ot TR
o) fra feEaa € IEAE T
- B23 4
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15.

(a) 7 ® o
) e ()  Question notattempted
738 W TN, 1902 ¥ Wiy A wia.ad ST S mé ? ot
@ 7 m ol i @ "
© 6 ®  srRawE
(V)
16.  Inwhich month s the festival of Kajli Tegj celebrated Ip Bundi?
(A) Bhadrapad ®)  Chaitra="* (©). Shravana
(D) Phalgun ()  Questibn .i\ét attempted e
o wER A whorelt i 1 R e & e s
A VR ® =\ T -0
L g
(D)  FEA (®) aﬁﬁamﬁ
(Y)
17.  ‘Golden langur’ is main fauna of which of the following biosphere reserve ?
(A) GreatNicobar (B) Nanda Devi (© Manas
(D)  Simlipal (E)  Question notattempted
frafafen ¥ | fre S smfva & =1 qe o, e T 2
@), FFEER ~D) © =
@) fafimE - (B) IguRawd
18.  InPowerPoint presentation, animation mainly decides.
(Choose the most appropriate option from below) )
(A) how the items in the slide appear. (B) I“QW the textlooks.
(©  how theslides rotate. (D)  how the slides appear.
() Question notattempted !‘*:-;')
TleRuiz= Yt # T ive g w9 @ w1 fifa smar g ?
(=1 & | W Sugae fawes ) 2
@) TR H T F e @ ¥ @) TR e R
© weTEEE R uwdt ¥ D) WS FA fard 4 ¥
(E) 3rgafa v .
19.  ‘Critical Minerals Summit, 2024’ was held in which of the following places ?
(A) . Surat (B) Dhanbad ' (© Bhopal
(D) New Delhi (E)  Question notattempted
Frefafaa & ¥ forg wm R ' frfewa e aftve, 2024 smifom g8 ?
@ T @ R ©
o ? e §
@ 7 feeht | ® Wﬁﬂ?{‘;"j)
20. Who among the following moved the ‘Objective Resoﬁuti(zns’ in the Constituent Assembly of India ?
(A) Rajendra Prasad (@) BR Ambe’d‘knr (© Jawahar Lal Nehru
(D) B.N.Rao (E)  Question notattempted
frefefiaa o @ foraa s dfaum wwn § “sRea deer’ e fman?
(A) TSR FER @), I EPER . (© T Y
O) . € SguRdsT
, B23 5
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24.

26.

"+ B23

Which Indian state recorded the highest wind capacity during 2022-23 ?

(Choose the most appropriate option from below)

(A) Gujarat , (B)  Rajasthan (© Tamilnadu
(D) Karnataka 3 (E)  Question notattempted

\x"e

ZOD-B%WWWWﬁﬁmmm(ﬁgmﬁ)ﬁaﬁqu
(ﬁqﬁﬁmmﬁmﬂ%)

@) T ji}_(B) TS © dferg
(D) FicH B STaRa wE

Choose the most appropriate option for the passive form of the sentence below :
They rang the church bells as a flood Warning

(A) Asa flood warning, the church bells have been rung.

(B)  The church bells are rung as a flood warning by them.

(O  Thechurch bells are nngmg a flood wax;(&ng

(D) The church bells were rungasa a flood warning,.

() Questionnotattempted

Dholpur Combined Cycle Power Station is operated by
(A) Rajasthan Rajya Vidyut Utpadan Nigam Ltd.

(B) Adani Power Kawai

(© - NeyveliLignite Corporahon Indla Ltd.

(D) Rajasthan State Mines and Mmerals Ltd.

(E) Questionnotattempted "

mmmwwmﬁﬁmmm%7

The smallest unit of data in computer is > - . £ @ff g

*) KB ® Byte © Bt

(D) Nibble (E) Questionnot attempted '

FR H Hhel I Gad B s‘ﬂé : gl _
@) F# xB) . ;(B) e © fe.
©® fEe WA(E) TR T

In which year was the High Court of Ra]asthan ‘established ?
TSR I =TT <h T ﬁmf‘ 1
(A) 1949 :
(D) 1948

How many person have held the pos-t of Chalrman of NITI Aayog since its formation (till Iuly, 2024)?
ifer @i 3 e F TR Y 379 7 (e, 2024) TR AR THR STeAY TR W S T ?

) 4 @), 2 © v
D) 5 (B) Question notattempted /SR W7

1““

© 1951

6
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27.

29.

30.

31.

T A A T i iy R T R 2
A) T ®) S 1 ™
o) Fr=a € SaRd

If the second half of the English alphabet ‘after M’ is written in the reverse order, which letter will be sixth to the
right of the thirteenth letter from the leftend ?

IfE STreh aviarer & gy o srer) Mwmaé_}mﬁmm?ﬁm@mmam%ﬂdm
3T &R HIF TR ? L
@ T B U © Vv
D H (E)  Question notattempted/3THRd ¥

Given below are two statements ; o

Statement (I) : First Prime Minister of India wished to achieve the objectives of Foreign Policy through the
strategy of non-alignment. - ™

Statement (II):  India was never trying to convince the other developing countries about the policy of
non-alignment.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (Ii) are incorrect.

(B)  Statement (I) is correct but Statement (II) is incorrect.

(©  Statement (I) is incorrect but Statement (II) is correct.

(D) Both Statement (I) and Statement (II) are correct.

(E)  Question notattempted

o we Rr e E .

HYA (I): m%mmmﬂﬁ#mﬁﬂzﬁﬁmm%m%mmmm
HIF (1) uzﬁﬁmﬁm%aﬁﬁmﬁwﬁaisﬁaﬁmm%mmﬁmﬂ%ﬁmﬂﬁﬁm
IR HYAI & TS H, ﬁﬁqwﬁmﬁﬁmmmgﬁl

&) T (1) SR HLA (1) A e § |

(B) wHUA (I) T &, A FHLT (11) Ted €|
© YA (I) T 8, AR e (I1) T T
(D) @A (1) 3R HYT (1) I T R

® omaa T

Choose the most appropriate word to fill in the blank in the given sentence :
If they that picture lower, people would be able to see it.

(A) hang ) (B) would hang (© don'thang .
(D) hung (E) ngstio}nnotattempted

The Sankosh Hydel Project i is ]omt Venturebetween? .
(A) India and China (B) Nepal and Bhutan (© India and Bhutan
(D) India and Nepal ()  Question notattempted

T gefersredt fErsr o < il & ofte 1 dge 9em 72
(&) R iR (B) et S e © ¥ iR
~D) YRd IR A (B) HaRa -y

1 B23 . 7 P.T.0.
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32.

35.

;B23 8
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The poultry feed includes: . (b v \
(Choose the most appropriate option from below) .

(A)  Maize and barley only () Maize, barley, pearl-milletetc.

(© Concentrates and maize only D) Roughage and concentrates only

(E)  Question notattempted £

- e i B9 € ¢

(Foret 3 R rary wrger et )
(A) ot wem SRSt

© o el 9IRS Hehl

E) AfaRayw

Ankur deposited Rs. 8,000 at simple interest whxchzamounted to Rs. 9,200 after 3 years. Had the annual rate of
interest been 3% more, how much amount he would have got?

(A) Rs. 9,800 ; (B) Rs.9,920 © Rs. 10,000
(D) Rs. 9,900 (E) Question not attempted

W%souom&mmmmmm%ﬁﬁmaémnoomaml wﬁaﬁasms% stﬁmir\al?h
forertt afér et Bt ?

0
N

(A) . 9,800 ®) % 9,920 7 © . 10,000
®) ¥ 9900 ® STRRa v 6" o
> R : <
Assets Reconstruction Fund (ARF) was set up for'the purpose of s ‘b)‘\\.' o~
(Choose the most appropriate option from below) S

(A)  To finance the Commercial Banks on low rqtg ;
(B)  To finance the Development Finance Instltutlons on low rates
(© Toassist Reserve Bank of India on managmg sing Commercial Banks

(D)  To takeover the bad and doubtful debts of Nahonahsed Banks and Development Fmance Inshtutlons
(E)  Question notattempted =

gt g fafy (ARF) %t e i T ot

(Fr1 3 9 ward Suggert oo )

(A)  =nforfareh e = F8 <l W fow weH w0 & e

®) T fom deml #t vy <3 w faadifa =0 F fag

(© s Sl & ey § Rt e S it weEd w9 F fag

D) Wﬁﬁaﬁxﬁmmmtwﬂtmmﬁmmﬁaﬁm
(B) IIuaysE e

Choose the most appropriate articles for the sentence given below :

Butmineisnot _& _typical story. In my story ,hg Scotsman is generous g Irishman i
Englishman is romantic. Oh, if j¢'s A fantas story I'll listen with A__ pleasure.
(A) a;the, the the; d

\B) a;the, the, the;a, :
© _
(D) aaanan;a, _____
(E)  Question notattempted

s

islogical and The

; the, an, an; a,




f

e St

———————————— A

|
|
|

36, el G-I 7 P R -

eI TetI1
(@) Endorsement () ferdmm
(b) Transliteration . (i)  STERAY™
(© Subordinate ) Wy
(d Transformation (iv) e
SR Rte e EEE LRI T —
~@) (@) (), (b)- (), (c) - (iv), (d) - (i) ®)— (a)- (i), (p)- (iv), (c) - (i), (D - @)
©  @-G) ®)- () (<) (i), (d) - (i) AD)-. (@)= (i), (b)- (i), (©)- (i), () - ()

37. m;mmg the following is the member of the Inté; ét;te Council and the Governing Council of Niti Aayog,
(A)  Chief Minister of States (B) Governor (©  Speaker of Lok Sabha
(D) President (E)  Question notattempted

. Frerfafias ¥ A B St T 9ReR @ i ot w7 e i (rafh weta) D 6 A w
@) T F e “«B) TEU © TRl A
©) T €) FARA A

38. Pangong Tso and Tso Moriri lakes are formed in which part of Himalayan Range ?
(A) Himachal and Uttarakhand Himalayas (B)= Kashmir Himalayas
(© Darjiling and Sikkim Himalayas (D)~ Arunachal Himalayas
() Questionnotattempted haersd
FHrim w6 SR & AR el ferera & form & A feaa €2

39.  Plantation of which of the following trees can help to prevent forest fires in Himalayan region ?
(Choose the most appropriate option from below) ]

(A) Rhododendron (B)  Chirpine (© Tendu
(D) Mahu () Questionnot attemPted
frefofaa § @ #1998 feaeas 87 # a7 & 1 A A T Terdw 8 har £ 2
(Fret 3 @ werd Iuga foehed 99)
-[D) TR E) 313“‘552_ ?‘\’j
40. The movement for a Separate Andhra was called as é——
(A) The Vishal Movement (B).. TheTelugu Movement
(© TheRegion of Andhra Movement (D)  The Vishal Andhra Moyement
(B) Question notattempted ’_‘;’
7o iy & feg g STikier i AW o : P
&) o s NB). A AR
© iy & R O) fowme 31y sty
® oA
) B23 9
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41.  Which of the following is not an agro-based industry of Rajasthan ?
(A) Leather Industry (B)  CementIndustry (©)  Textile Industry
(D) Rubber Industry (E)  Question notattempted
frefafaa 3 ¥ $i 1 S TTH & Hi anuifia Sa@m w 3nqrﬁa:rg"f-g?
A) =W @ e © wve I
O W IEm ®) Wﬁﬂ Wf
42.  Thelife history of the saints which is available in poetry form in Rajasthani language is known as
(A) Jhamaal (B) Ihootna (© Parchi
(D) Vaat (E) Queshon not attempted gy
TR S S e A W ¥ e g AR T 2
@ = ® g © w :
© W ® ERaTA ‘
43.  Choose the most appropriate indirect form of the given sentence :
“Wait for me at the bridge”, said Rahim.
(A) Rahim asked to wait her at the bridge.
(B) Rahim said that you have to wait for me at the bndge
«~{O Rahimrequested her to keep waiting for him at the bridge.
(D) Rahim told her to wait for him at the bridge. L
(E) Questionnotattempted —
44. Who is the author of song ‘Dharti Dhoran Ri’ ? :“——_
(A) Allah Jilai Bai B) GavanDew (© Kanhaiya Lal Sethia
(D) Vijaydan Detha E) Queshon not attempted
‘et Wi R TR 3 AR (AEE) B R 2 i
(A) e e a1 @) e 3 © e dfem "
@) fasagEsn () SIud ¥ G
45. Which of the following is not the alignment of the paragraph in MS-word ? 3
(A) Right Alignment (B) Justify (©) Before Alignments
(D) Left Alignment (E) Question notattempted
frefefad § Q1 THTE.-aE § S 1 way
B) T FOR S © HEm
@) adEEEn ® aﬁﬁﬁﬂm
46, TH A HA Y = WY F TR E 2 ; o
@ T@m @ F® () R @ fopd @ I
ﬁ@mﬁﬂﬁﬁ@mmmmﬁm
TJA) Fa (a), (c) 2 () ® ¥ (), (d) 3 (e) NG ), (@) ()
e (), (b) 3T (c) B AE T
: B23 W
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47. Givenbelow are two statements:
Statement(I):  Rajasthan gets rainfall from the Monsoon of Bay of Bengal and Arabian Sea.
Statement (I):  Bay of Bengal Monsoon pass through the Rajasthan without giving much rainfall to it because
there is no proper obstruction available in the passage of it.
In the light of the above statements, choose the most appropriate ahswer from the ophons given below.
(A) Both Statement (I) and Statement (II) are incorrect. ‘;;:l
«B) Statement (I) is correct but Statement (II) is incorrect. :’
(©)  Statement (I) is incorrect but Statement (1) is correct. ~
(D) Both Statement (I) and Statement (II) are correct. ?-:
() Questionnotattempted L J
2 o Ry
FHUA([): ST B G 3R I TR F A Y T F aui g e
FAT(): ST G HAAGA Toree™ 3 far arfirss o fafg Toran &, mmm#mﬁmm
1 AU T §
IR oAl F T 1, i Ry e famed § ¥ wed Iugaa S|
A)  HA (1) SRS (1) I T B |
(B)  WHUA (1) HE T, Afeh YA (11) T g o)
© U (I) T 8, AR T (1) T 2 (O
©) HAT (1) AR FHAT (1) A T B !._;‘
() guRayH ~J _
48. A candidate who gets 20% marks fails by 15 marks but another candldate who gets 42% marks gets 12% more
than the passing marks. What is the passing mark ? =
20% 3idh I HTY AT SHIAR 15 bl | STawE B STl &, '@rm“u% mmmﬁmmwﬂwﬁmﬁ
STl A 12% ST 3ich frer € | it w2 ? e
@A) 45 ® 40 © 33
D) 30 ‘ (E) Question notattempted / STTRIA W& '
49. 1fB = 25,S0ON = 33, then PEN = ? ‘ Al e
3fg B=25 %, SON =33, & PEN e T ferehedl # | foradh st 82
@) 33 uB) 46 XD © 49
O) 35 15) Questxon not attempl:ed/ STARa v
C
50. In which of the following cities of Rajasthan Mahindra World Clt;y is located ?
(&)  Jodhpur (B) - . Jaipur = (© Udaipur
(D)  Jaisalmer (E)  Question notattempted "
e s figd o o Fre # @ form v A feem @2 iy
@A) SR ® SEX © =R
D) SR (B) AT IA
) B23 11 | P.T.O.
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51. Whatis the percentage of reservation for women under MNREGA Act, 2005 4
(Choose the most appropriate option from below)

Wnafuﬁmzoos,?muﬁmaﬁ%mmmmmm%?

(et & &y g Foed ) "
(A) 25% (B) 33% ‘ ’ © 40%
D) 20% (E) Queshon notattempted / STARA ¥¥T
52.  “Glimpses of World History”, book is written by;—-;-_,
(A) Raja Ram Mohan Roy (B)  Sri Atrobindo Ghosh (© Mahatma Gandhi
(D) Jawahar Lal Nehru ()  Qiiestion notattempted
e sife e fet"! e fend el 27,5
(A) TS T HiEgd W™ (B) aﬁanfaz}thw © e T
(D). SRR AA TBE (B Faawd

.30
53.  If the wheel of the engine of a train, 7 meters in circumference makes 7 revolutions in 6 seconds, then the speed
(inkm/hr) of the trainis: '

Wﬁmm%mﬂ?mﬁvﬁﬁ: Iﬁzz%sﬂxaasx}mﬁ7wm% a‘T’{mﬁtaﬁm

(et s ¥) = 22
@) 20 B 25 'V
AD) 18 ®) Queshon not attempted/ ?-Rﬂ'dﬁ?l W
F-=..
54.  Choose the most appropriate English word for . .~
Hrgor E 33
A)  Proconsul (B) Procl;’mahon (©)  Procession
(D) Procuration (E) Questionnotattempted :

55.  The pair of autosomes present in human beings are :

- e S # feran S Ffe R () B9 ¥ 2 :
@) 22 ® 21 © 46
—D) 23 (E) Questionnotattempted/ SR T

56.  Which country became the world’s first country. _E_ojlake abortion a constitutional right ?
(Choose the most appropriate option from below):

(A) France (B) Ho]and (© Malaysia
(D) Poland (E)  Question notattempted
n@maﬁwﬁmammmmﬁumaﬂamum%ﬂw7
(F=1 & A warl sugem fararey ) Efj-}
| @ W ® ) ©
| D) Trie () IHufayE
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Rhinoceros are found mainly in one of the following National Park/Wildlife Sanctuary :

" (A)  Periyar (B) Rajaji © Mhadei
D) Kaziranga (E)  Question notattempted
o1 e T8 A ToF Uit yrdh/aasiia svvamtva F wran < € ?
@ W ' ® © T
[ W ® SERIRE
‘ ion Flood’ is associat i
- (g)Pe ravt\‘/l-aite Revolution edwith B) Blu'e Revoluﬁ;n © Red Revolution
D) GreenRevolution () Question n'é’faitempted
SR T H A R -~ .
o R ® e w800 © @
59. Y5 T ST ST, 3T T @ g, st @ e ¥
(A) I 3R WYRY Y g Heft |
@B T S SR TGN A
© T faeg ™ g
D) TR 1 Ot e <he e W, R A |
E) ITIRd g
60. States Reorganisation Act was passed in : L
(A) 1953 ‘ ® 1955 {2 © 1956
(D) 1952 (E) Question not attempted
T GFieT it e wifta gon °1? e
(A) 1953 H ® 195% © 1956 H
® 19527F € IR T

0l d English together is 140 more than the
marks obtained by him in Science and Maths. What is the average marks obtained by him in Social Science and

English together ? )
7fg 7for, forgm, Ao far @R Siieh # U o g I Fo 31k, o S nfvra & wrar sft § 140 e

% e Foa o ST H S 5 9T Sie 7 ot 82

61. The total marks obtained by a student in Maths, Science, Social Science an

\
@)- 70 (B 60 : © 50 M- Luo
i tattempted / 3TARA U 5 to
D 75 . (E) Questionno p S 3/ o
62. Co-founder of Non- Aligned Movement (NAM) was _ — € p Ot
(A) Mahatma Gandhi : (B)  SardarPatel’-~ (© C. Rajgopalachari
(D) Jawahar Lal Nehru (E)  Questionriotattempted .
TPy Sidied (NAM) & HE-HedTs q: Lok :
®) e med B FER R O W TEE
D)  STETR e AEE ®) oNRaTd
63. T @ g g ore faw ¥ forg W & @2 ?;
23
@ ® i © -
© E) STar@ ¥
o 15 P.T.O.
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64. Which of the following area did not cover in first stage of Indira Gandhi Canal project?

(A) Hanumangarh (B) Bikaner (© Barmer P
(D) Ganganagar ()  Question notattempted AT
mmrﬂmnﬁﬁw%wmwﬁﬁwﬁfaaﬁﬁaﬁw?@?maﬁ a?
@) T ® @Ry - TO TR
O TR () TR ¥ C’:z
65. Who was called the Father of Indian Renaissance ? ”-,,j .
(A) Ravindra Nath Tagore (B) Raja Ram Mohan Roy (© Keshab ChandraSen
(D) DebendraNathTagore < (@), _Question notathempted
Wt T 1 S R el T € 2 C\f} L |
&) g TR ® TOWAAT © maﬁw
(D) =" &R 6B SR W '
66. The characteristic of the computer to store data, information and programs is called : ;
(A) Versatility (B) Storage . (C) Speed
(D)  Accuracy (E) Questionnotattempted : , &5 B
Fr i o fafurea, fad wom, W@mmmﬁmm% a%m?ﬁ% T
@ wEgfEm ~6) maﬁmﬁj © Wl v
® Rgre ® S (0 - '
67.  Which of the following mput devices allows to input alphﬁmenc characters and special characters mto the
computer ? %;
(A) Monitor ®) - (C) Keyboard
(D) Mouse (E) Qu&shon notattempted

Fnetfirfiaa 8 @ 1 @ e fearew, aﬁm@fmchmcmsiaﬁtﬁimm(dmmem)aﬁwﬁmaﬁ
At A7 ?

B #HR ® b= B CREL S oS
@ wEE (B SR Rk oS+
6. wdmFgeRmm@E s S
@ ®w QW
69. Comi)utethe : Binary Code addition (BCD) f:f:_} §
T e U (BCD) Wl O 4 : O
2+3 =132, L) ' '
J4) 0101 " (B) 1000 I ORI e I & o y £
(D) 0000 ® Questlonnotattempted/ S{ﬁﬂﬂm
70.  Which of the following is not a bitwise operator ? - i;
fretferfian 3 @ a1 freamssy sifde 76 2 ap) L
e ® > © <<
~D) . () Queshonnotattempted/ IaRE T

., B23 " 14 T
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71.  Which city of India hosted 1415t International Olympic Committee Session ?

(A) Mumbai . (B) Kolkata (© Chennai
©) ' Delhi _' (E)  Questionnotattempted
T % R TR 14191 Stmisfia a‘t%ﬁmaﬁﬁtmm anfaes foman ?
w = _____(_B) I ©
o feeedt : - (E) TR we

72.  The Vishakhapattanam Industrial Reg;);m famous for which type of industries ?
(Choose the most appropriate option from below) - -
(A) Automobile (B) Engineering (©  Ship building
(0) TonSteel " (B Questionnotattempted
mmmmm'mﬁvm%m%mm%?
(Fr ¥ ¥ e Suge faeeq 99) s
&) SRmEEa ® i G e
D) ST ¢ (E) aﬂfﬁﬁﬂ i

—x{_

i
73.  Three resistances of 3,4 Q and 5 Q) are connected in series in a circuit in which a battery of 6V is also connected.
Which of the following option (s) is/ are e correct ?

: v
(@)  The potential difference across a]l the resxstances is same. \ < xb

: X
(b) The current in each of the resxstance is same. : X 6
(© The eqmvalent r&slstance of the combmahon is12Q. 5
st :

Ad) ThecurrentmthecucuitlsOSA

o ——————

Choose the most appropriate answer from the options given below :

; &)  (d)and (d)only B O ©and@only O (). 0b)()and(q)

L (D) (a)and (b)only B Quatxonnotattempted

e A A TN 30, 40T 50 mﬁaﬁmmmwﬁzﬂ*ﬂvﬁ%ummﬁm
A A Y foerea wé B2 !

(@) mﬂuﬁfﬂmﬁﬁsﬁmm%n,fk @\
) mmuﬁﬁqaumm%w >
© wmmmmlm%l ,

d a%zﬁﬁgaummom%l;

mmmﬁmﬁﬁmmmiﬁ
@) ¥ (o) 3R () B w0 @ Q@ @), 3tk (g
©) ¥Fad (a) 3R (b) € SERATE .

; B23 | 15

P.T.O.
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74.  The first two figures are related in a certain manner. From the given options choose the correct option that
establish the similar relation with the third figure to replace question mark ?
o, ? gt w A 9 R Haifm € ) el ST & WY T T T R g ugaTas o & TR
W 3l T foremed 1w FfIC | e
)
§ ¢
8 || gv|| ?-
=
0 3 9 : )
Q2| g g 8 8
@ || 8 ®) g -© § ® |/38
(E)  Questionnotattempted/ AR ¥
75, TR R GREATHIFAMIRIE®?
(). ® FE © FERA
© Fah € ITERa g
76. T Q B A 1 vaigar T ¥ 2
@ ®) ¥ © o
@;m : () 3rgafa g
o
o Vghtof\;ras the Chief Commander of the Mughal army in the Battle of Haldighati ?
(A) ~ MehmanSingh (B)° Man Singh (© Khurram Khan
(D) Hakim Khan (E) Questionnotattempted
TR & 4§ 7Tt A1 BT A Ff hi o1 ?
() e fig B W fiE © gEEH
@) wfFmEm €) STURA T
oy %
78. W?\g was the Chairman of the committee on financial systems in India, which recommended the setting up of
Aﬁ_f_?'-s Reconstruction Fund (ARF) ?
(A)_Sh. P, Chidambaram ®)  Sh.PranabMukherjee (© Sh.M.Narsimha
(D). Dr.Manmohan Singh (E)  Questionnotattempted
“@Lﬁﬁmmwwm%maﬁﬂ 8, oty fiafa ¥ qAffaio F9 (TIARTE.) H w6 H
fertter 71 ¢ 2
s :
) " . &, fadam ® . woe gast © R =
®) =l e fie € ST W
, B23 16
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79. Given below are two statements :

Statement (I): Ajmer was an important centre of political awakening and socio-economic activity i
final years of the nineteenth century.

Statement (II): In 1888, a delegate from Ajmer - Marwars participated in the Allahabad session of the Indian
National Congress.

"—‘-' 1Y
In the light of the above statements, choose the most appropna,te answer from the options given below.
() BothStatement (T) and Statement (II) are mcorrect.( —-._’
@ Statement (1) is correct but Statement (II) is mcorreg% -
(O Statement (I) is incorrect but Statement (II) is corregt-.:
(D) BothStatement (I) and Statement (II) are correct. s
(13)] Question notattempted Ll

FRJIFERemE: YJ
FT(D): 105 ST 3 3 i S e SR S AR S e G e $R
' EeRie ||

&I (1) : mlw,ﬁmmﬁmtmmﬁm.m%mﬁﬁﬁ%mml
SR FA 5 e H, Y e e feredi H 9 el ST S A |

@) = (1) AR wE (1) W T

(®) I (T) T &, Al I (1) 7o € O

N'e) I (1) T &, Al w9 (1) T T ©
E ©) I (1) e (1) S T
i B FEERE I

80. Following is the full form of SLRin Indian Financial System is:

L “"“z
i -

(A) StateLenientRate (B) Statutory ngvlgaho (© Statutory Liquidity Ratio
(D) StateLiquidity Rate () Questionnot attempted
g Fdta woeht # 7 @ T8 TE AR (SLR) 1 i €4 & :
(A) T IR A B A 2 S © 3w T ST
O) T e ST € AT
8L i i o TR T2
& S ® T 'SP 0O W=
i ia’ jonal flower ? ;:_
82 What is India’s natio o e "-A.j-" i
((g)) :is () Question nd@émpted
T o T qoy i €7 C’Z
() T G Y © e (e
D) FHA (€) ITIARE wA
;B23 i . P.T.O.
)
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83.  Choose the odd one out. X bdl
34 ot o1 g o g A o &

Z)

VA
(%)

©

()  Question notattempted /3TARA ¥¥

84.  Whois the current Chairperson of Rajasthan Human Rights Commission ?
(A)  Justice Shri Ram Chandra Singh Jhala (B)  Justice Prakash Tatia
(©  Justice Ganga Ram Moolchandani (D)  JusticeN.K. Jain
(B) Questionnotattempted

A T T TSR STENT &1 7598 HH & ?

a”
ygl?

:
N

(a) —rEEfd 4 uwEs e g (®)3 =ArEHfd wehr
SO TrEgfd T T Yo (D)= =EHfd T, S
85.  When was the state of Rajasthan completely unified j
(A) 30November, 1957 (B) 1November, 1958 (© 30November, 1959
(D) 1November, 1956 (E)  Question notattempted
TR T il 01 TR0 hef o 2 hdd
(A) 30 TER, 1957 (B) 1 7E=, 1958 © 30 TER, 1959
D) 1 7R, 1956 () STaRa ¥

86. has been established, by government of Rajasthan, with an objective to disseminate useful scientific

and technological knowledge at the ground root levels.
(A)  Science and Technology Resource Centre
(B)  Scienceand Technology Recreation and Research Center
,; (©  National Research Institute X
I (D)  StudentScience Center A

| (E) Question notattempted ';:}-:3
g I T, R T e favm g s o i T e S dut o e 9e -
TR X % 3% Qe fope e i
K TR T S e -
®) o o e o o o R
© T s e 623
D) o g i t
B FFEIH
. B23 18




87.

89.

Which of the following is a type of computer network ?

(A) STAR B) PAN (© RING
(D) BUS i (E) Questionnotattempted
frafafaa § { T W Frag Yead w1 T TR R ?
(A) THATSMW(STAR) ~(® WU (PAN) © amam T RING)
©) WY (BUS) @ Ry
Which of the following Constitutional Amendments gnvtzT constitutional status and protection to the Panchayati
Raj institutions in India ? i i
@ m an O o =
727 _ . (E) Questionnotattempted
P 3 Pt SR SR 3 W e Tt e e <l S O I 2
A 7B ® 7w ) © 754
© 7 ® . sHaRawe )
Given below are two statements :
Statement (1) : Phosphate rock is mostly used in the manufacture of superphosphate which is utilized as a

Nutrient for crops, fruits and flowers.

Statement (I):  Phosphate rock has been located at Maton, Karbaria-Ka-Gurha, Kanpur, Dakan Kotra and
Neemach hill, all the Aravalli formation of the Pre-Cambrian age near Udaipurand J aisatmer
areas.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (I1) are incorrect. ..
(B) Statement (T) is correct but Statement (1) is incorl‘gc’_t_.;'3
(© - Statement (T) is incorrect but Statement (I1) is correct. )
(D) Both Statement (1) and Statement (I1) are correct. )

® Question not attempted ==

R 2w fRg e E X .

YA (I): ﬁmﬁ@m:mﬁmﬁgmﬁmﬁa\ﬁmﬁ,ﬁﬁmﬁ%w
H wm Bt €1 P

HA (1) ﬁmﬂﬁ@,mﬂ?ﬂwiﬁmmwmﬁm%@mﬂmm
SrgerR A &6 T W T F S W €

it e 3 ol , A e el R T IR SR v
&) w1 s e (1) JH T ¥

® wmga%émm(u)m.%l

© e () e & A e (1) T

®) m(l)ammm)zﬁ'aﬂ%u

9.  What is the main function of central processing unit (CPH)ti_n computers ?
(A) Totransmit data @) Tostoredata ) (©  Toprocessdata
(D) Todisplay data Question not attempted
o
WﬁWWW(CPU)WWWW%??E
(A) SRS R ~p) SIS W R H © eSS A
D) e M wefifa T ® mﬁavfl
: 1
e . PT.0.
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91.

92,

93.

94.

95.

Choose the most suitable word for the phrase”Fit to drink” :

(A) Venial «B) Contaminated (© Hard and Saline
(D) Potable (E) ' Question notattempted
T ) wo Ry E '

U - (1) : ‘& TV B ISR WH HI E |
HLT - (1) : ‘sﬁ'w‘a'ﬁaﬁmm@ﬁm%l
mm#mﬁmmﬁi@mgﬁ:

(&) e (1) 3 () A SR E s, (B) T () T &, Forg e (11) s #)
JQ) U (1) AR, WW(II)W%IHE;}L (D) e (1) 3R (1) AT T E |
(B gaRa v -
What is the most appropriate synonym of wor‘c:iyzé;éciab]e" ?
(A) Snob «B)  Friendly (© Inhospitable
(D) Bankrupt (E)  Question notattempted
Which of the following Banks was originally named as Imperial Bank of India ?
(A) State Bank of India (B)  Punjab National Bank (© Central Bank of India
(D) .ReserveBank of India (E)  Question not attempted .
Frafafaa & @ e S &1 @ ™ $hftga S sife fear 912
(A)  YRAE R EF (B) ST A S 1© Hza i 3w ifea
(D) rd fed o (B AguRayE
Which of the following amendment act providgg‘r:é'servation of seats for women, in the Urban Local Bodies ?
(4) et ® 73 © 74th
(D) 65t (E)  Questionnotattempted
el T frama H wfgenst, %gﬁif%mwgﬂwﬁﬂﬁf@aﬁﬂm#ﬁmmaﬁuﬁmmm
T ? ;j: f
; .} .
~4) 68 ® 733 ’ © 749
D) 659 ) 3{'3’?11'}?[‘5!?71’ -

i'=-- e

A,B,C,D, E, F, Gand H are eight friends sitting around a circle facing towards the centre, not necessarily in same
order. His on the immediate left of A but H is not the neighbour of E or D. Fis on the immediate right of Band G
is the neighbour of E. C is between E and F. What is the position of G ?

(A)  Third to the right of F (B) Immediaterightof A (© Immediaterightof D
(D)  Second to the rightof F (E)  Question notattempted

A/B,C,D,E, F, G 3l H a1 firs, T 90 & wIRi 3 % 91 % He Fre 33 ¥, snavass =9 @ 36 9 8 7 |
H'A%a*aﬁaﬂt%émn,ﬁmnﬂ?wﬁﬂif%mB%émzriaﬁt%aﬂtc'ﬂﬂ@mls%lc,mﬂw
F A 1T G F feofar g 2 )

(A) FHE R iy B A T iR © DFIwTE R
: @) F&HTW Ay ® A v
97.  Which o'f the following is the largest zinc producing mine in Rajasthan ?
(A)  Sindesar Khurd Mine (B) JawarMine (© Kayad Mine
(@)  Rampur Agucha Mine (®)  Questionnot attempted .
ﬁﬂﬁﬁmmaﬁma@mm@zhg}
(A) o gd e ® TR @ © FEREEH
(D) TR e @ B SuRa T
; B23 20
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98,
(he same thickness and cach having length of 8.4 m?
M) 10kg ) 25ky © 18kg
() 15ky (1 Questlonnot nllvm)plml
s e wherd A e Y v v g 5.6 i & i 2 e, B mmnmzmﬁmuﬂwmmw
wr, Ak v oy ) oag 8.4 e d? o
(A 16 fiem, W 2sfEm - © 18 fR.
(.0
@) 15w, @y omRawE 5
: ()
99,  Pirst human to walk on the surface of the moon waos ! o
(A)  Nell Armstrong ®)  Buzz Aldrin (© Sunita Williams
)  YuriGagarin (F)  Question notattempted
e ¥ WAE W AE WA GOl WA ¢
) e sl ®) e © g fafears
@) e @ oErawE () |
() :
100. ‘Anti-Arrack Movement’, in Andhra State was a movement against:
(Choose the most appropriate option from below) v_ :
-
(A)  Alcoholism @)  Agriculture =T (© Industries
(D) Poorcondition of farmers () Question notn{il:.ﬁ'\ptod
e ferdedt s, atiy w_w | ¥ e TR ol
(e A R T Saga faeed g7)
JA) YT ® T © &
() forarl W @ w0 @ SgERAE
101, The first Chairman of NITI Aayog was: 'E ‘)"
(A)  Sh. ArunJaitely ®)  Sh. Arvind an\;'nrm (©  Dr.Manmohan Singh
M)  Sh.Narendra Modi (B)  Question l\otn}g‘;w}ﬂcd
<Ay s & were STeael & ¢ -
g ) Y
() o, oo e () A emfiR ww{m © S we fiw
©) g (@ ORI
; B23 & PT.0..

Andronrod of uniform thickness of lenggth 5,6 metre welgha 24 kg. ow much will be the welght of 5 ironrods of
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102. Given below are two statements: L
Statement (I):  Veer Savarkar formed an organization named ‘Mitra Mela’ during the partition ©
with his companions and made a bonfire of imported clothes. War of
Statement (II):  British government had imposed a ban on Veer Savarkar’s book, “The Indian
Independence” before it could be published.
In the light of the above statements, choose the most appropnate answer from the options giv
(A) Both Statement (I) and Statement (II) are false.
(B)  Statement (I} is true but Statement (1) is false. i
(© Statement (I)is false but Statement (11) is true. ( pi=tf
(D) Both Statement (I) and Statement (II) are true. s

f Bengal

en below.

Question not attempted Dy
ﬁﬁmﬁnm% -
o @):  aREEE e, Wmmaﬂtmﬁwtﬁmaﬁmﬁﬁ%mﬂm?@?ﬁ
FHIS! HI Bl STt | .
woA():  fafew TR A AR AEER S I, zsfsuaartaﬁmgi%ﬁév %méqﬁg’tmmnﬁaum
feam _

IR A ¥ STed §, = R g feeed H A wad SR IO |
(A) e (1) AR HYEF (11) I T € | A
@) U (1) T &, AT HA (11) T R | :
© YA (1) T &, AR T (1) FA BN
D) &I (1) R FHE (11) I & FA R
(€) SRa e iy

103. Whatshould come in the place of question mark(?) in the followmg alpha-number series ?
ﬁmﬁf@ammﬁmﬁ%(?)%mmwmaﬂv
X4Z, T9U, P25P, L49K, 7, D169A.

] hum

(A) GB8I1F YB) H8IF g © Gi121G
(D) HI21IF (E)  Questionnot attempted/ STaRa 9
104. Given below are two statements : {CE
Statement (I) : Fishing can be done only in freshwater ecosystems
Statement (II):  Fish is a cheap source of animal protein for our food.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are incorrect.
(B)  Statement (1) is correct but Statement (II) is incorrect.
(C)  Statement (1) is incorrect but Statement (II) is correct.
(D)  Both Statement (I) and Statement (II) are correct.

(B) Questionnotattempted

A oA g M E
HUA(I): mewwm(m)ﬁﬁlm%l
wY (11): Wﬁmaﬁ%mmﬁﬂﬂwwmm%l

mm%mﬁﬁﬁqwﬁmﬁémmwam
@) - F (1) SR wer (1) AT & T E L “J

(B) WY (1) TE ¥ AR e (1) T €|
© ®UA (1) T ¢ AR AT (1) T € '
«D) e (1) SR Fwe (1) AT W N (!

(B) gaiage

, B23 22
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% b5 o \9 By 5
B S e W 2 8
@ In the following question cach st of numbers folfows a similar pattern, find the missing number (?). “=.
ﬁwﬁaﬁamﬂuﬁm#wmm,mmmwaﬁmm%,mwﬁmmaﬁm' 55
XN ud )
Q @ @ : e g @ ;\ Nz 1 \,V _ ' ;"\'L
% Qo R A e heil
@ OO \,; 3

» 1 B 19— © 8 ,\ \ 3 %

) 13 (E) Queshon not atlemptcd / Eﬂﬁﬂﬂﬁ S| ﬂvl’ 3 4
106. Inhow many agro climatic zones, is the state of Ra]asthan,dmded for the purpose of agriculture? ul‘)b- ‘9

ftr 35 SR¥a R, TSI T B R i Srerarg A H R frn € 2 ’YA'}S{

@ 10 ® 12 © 20 )

(D) 8 (B) Question notattempted/ STafd 5 -

107. Theassertive role played by the judiciary in the protection of the rights of the citizens and in promotion of justice
in society by intervening in areas falling within the domain of legislature and executive is called :

(A)  Judicial Réview (B) Appellate Jurisdiction (© Original Jurisdiction
(D) Judicial Activism (E)  Question notattempted
e g ARE & bl 3 weeror § fryerarern fte ok faurdt wd st & dfusr 3 ewad &
B WA H = F WA el g ? O [
(a) =i gEdero (B)  Tdielg. st © ey stfuamifa

D) s wfifaeR ® SARARE.

}
108. From the options below, choose the most appropriate(;\;:gning of the underlined idiom in the given sentence:
Laila’s feelings “ down in the dumps ” is a temporary phase.

M.
(A) Malnutrition (B) Feelingelated MO  Feeling very sad
(D) Poverty (E) Questionnotattempted

109. The profit earned after selling an article for Rs. 680 is same as the loss incurred after selling the same article for
Rs. 426. Find the half of the 50% of the cost price.

(A) Rs.150 (B) Rs 14825 © Rs.13825
(D) Rs.190 (E) Questionnotattempted
TF T H 680/~ mﬁhﬁwaﬁamuwarqﬁna/-mﬁﬁﬂaﬁmgmﬁ%m%umwﬁm%
T U I RIS p r»:
(A) % 150 ®).. % 14855 © % 13825
O %190 ® “ﬁﬁﬁﬁ“f' .
110. Which of the following district has highest production’of cotton in the state of Rajasthan ?
(A) Bikaner (B)  SriGanganggar © Jaiselmer
(D) Jhunjhunu (E) Questnoqut attempted
forey 1 rored™ T A B H TEH mmwﬁmm%
() R 4B) © Srern
© ¥ @ W‘ﬁ“ R
' B23 2 P.T.0.
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J 111. The states created in 1960 were :

(A) Maharashtra and Gujarat (B)  Manipurand Tripura
(O Haryana and Himachal Pradesh (D)  Maharashtra and Punjab

()  Questionnotattempted

T 1960 7 G T4 9 : (C? '
)
(A) R ST v wfg i frg
© ftamn 3 femraa waa () ez At
©® FeE T I
CY)

112. Integrated Child Development Scheme (ICDS) was started i;{:h:)y@;;
| i e faw e (S A, e g @
(A) 1975 ®) 1980 40 1985
(D) 1970 (E)  Question notattempted /AT T

113. Which of the following archaeological sites of Indus Saraswati Civilization is in Pakistan ?

(A) Raipur (B) Kalibanga (V) (O Harappa
(D) Dholavira (E) Questionnot afﬂiex;;pted
- -~ - - <-
fay Teed avrm %1 e & 4 2 o g e w22
(A) TR B) FEET Q T
O ey ® agatawEm ()
™
s
114. Which of the following tourist centre is not located near Ajmer ?
(A) DaulatBagh (B) AnaSagar (© Gulab Bagh
(D) Taragarh Fort (B)  Question notattempted
frefafaa wiz 421 4 4 7 awit & o fga 7 §2
AA)  Faa am (@B FER © TEEam
D) T ® AT o
®
115. Which of the following file extension is applied toa MS - I’op;erljoint 365 Presentation by default whenever you
saveit? a4
Freafafor # 4 %1 e foream a.wm, AT 365 FS2RH AN B €, 9 9 3@ feree @ (¥9) TRia
TaZ7 -~
FIAE 7 o
(A)  xls (B) .doc - P © xps
(D) .pptx (F)  Question notattempted/ Tt W
. B23 24 o
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116.

Given below are two statements :

Statement (I) : Dr. Bhimrao Ambedkar led the Mahad Satyagraha in March 1927 to challenge the regr e
customs of the caste Hindus.

Statement (II):  Dr. Ambedkar established the Bahishkrit Hitkarini Sabha in 1924 to highlight the difficulties
and grievances of the dalits before the government.

In thelight of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II)‘are incorrect.

(B)  Statement (1) is correct but Statement it (1) is incorrect.

(©  Statement (I) is incorrect but Statement (II) is correct.

(D) Both Statement (I) and Statement (llj are correct.

(E) Questionnotattempted m_:.i

= FyE g E . -

A (I): z’fﬁmaﬁm%mﬂmﬁﬁ;maﬁmumﬁaﬁwﬁ%ﬁmmmm
T

T (1) : am%wuﬁm%mamaﬁmmmﬁmmﬁm
Teaamfolt T =t e =57

ST Fol F e §, T Ky 7 fowedi # A wad I0gE S|
(8) wHIT (1) SR HAT (11) = Te@ £

(B) YA (I) TR &, AfHA w9 (11) 7o B

© YA (1) T B, AT KT (1) Tl B

—D) THE(N) aihm(n)zﬁug‘t%l

117. Which of the following states has the highest solar power generation capacity ?
(A) Tamilnadu (B) - Karnataka (© Kerala
(D) Rajasthan (E) Question not attempted
1 3§ v T 3 Wi il et e Sl e @2
(A dfrerg B)— © F@

(D) TwEm

118. The diameter of a sphere is 8 cm. Itis meltéd and drawn into a wire of diameter 4 mm. The length of the wireis:

119.

120,

T TS 1 =4 8 At ¥ 1 59 frsrene s 4 faft = % ar # @i S, ar #) e e

A) 4266 -;— cm By 2133 -:1; cm © 3123 % cmi

(D) 1066 -:7 cm ()  Questionnotattempted / STFA T¥

Which of the following banks is known as Bankers Bank in India ? _

(A) State Bank of India (B), = Reserve Bank of India (© Indian Overseas Bank
(D) Punjab National Bank ®™ "~ Question notattempted

Pt & & Fra o B vRa  Faed -5 A A S S 2

(A) WA REEE \B)— st el e © ¥ siroredr
(D) USITE R o E)-2 TR T

A AFM AR LS ? —J

(A) WA TS T L Y fog 3t o iR o am e
© # o i T A APy 9 [ ar d o die )

B ARa T
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121.

122.

123.

124.

125.

126.

‘g’ § ffea TE §

7
() FHTE ® g © g™
(D) A (B) &Aqaf@us
Choose the most appropriate preposition from below in the sentence :
India is beset___ many problems these days.
@A) to B)  with © on
D) of B Qﬁgjb’on not attempted
Which of the following tourist centre is Iocate(i tcigge to Barmer ?
(A)  Shergarh Fort ()  Natanion ki Haveli (© SamSand Dunes
(D) Kiradu Temples ' ()  Quéstion notattempted
frefafaa § 4 #1974 7 gl & v fen 32
(a) o fen ®) A # g © wmFAHI
. {5 3
@) frogH ® ?@am
Which is the largest ocean in the world ? '
(A) Indian Ocean (B)  Atlantic Ocean . (© ArcticOcean
D) Pacific Ocean (B)  Question notattempted
fava 1 g9 92 He™rR FEar £ 2 _
(a) &g wemrm (B) Zeifew HEEIR © arkfes 7@K
(D) 9w eI B SAgaREawA
Who has been chosen as the recipient of ‘415t Lokmanya Tilak Award’ ?
(A) Dr.Mayilsamy Annadurai (B) AmitShah (© Narendra Modi
(D) Dr.K.Siwan (B) Q.‘"uiéhcn notattempted
‘419 wirEA foere qoER % fog fRd )
+A) 2 T SRt ® e © TEEE
© @ % faam ® sFeEa T

In the given question a statement followed by twoconclusions numbered I and Il are given. You have to assume
everything in the statement to be true, then consider the two conclusions together and decide which of them
logically follows. s

Statement: India’s economy is depencfiffg%naixﬂy on forests,
Conclusions: ()  India wants only maintenance of forests to improve economic conditions,

(M)  Treesshould be preserved to improve Indian economy.
In the light of the above statements, choose the correct answer from the options given below.
(A)  Ifneither (I) nor (II) follows (B) Ifonly conclusion (I) follows
(©  Ifonly conclusion (II) follows (D)  Ifboth (T) and (II) follow
(E)  Question notattempted

ﬁqﬂq’mﬁ,@Wahtm&;ammnmﬁﬁmﬁqm%mmahmﬁﬁﬂ%wﬁmﬁﬁmm
&, o Sl Firomd 0w g foram a9 ol < o o @ 1 e w9 @ spao s 2
HA: 9T F Ao geA B9 9 o AR F
Frerd: ) awh e feaf F1 g R ia B e o @ & wEwaE weE
M U o afwew, YRAE AdqaE B GURA & fag fem s i)
IR o1 % Sireirer §, 3 feq 7 foraredi 4 @t SO A |
~¢) T () SRAE (1) AT ARG (B)— Had (T (1) AT F@AE |

© e e (1n) sree s g (D)) ([ 3R () S Srge €
B agaiE e ) :
" B23 : ' ; 26
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127. This vitamin is an antioxidant, fat soluble and obtained from plant oils :

(A) VitaminC () VitaminE (© VitaminBg
(D) Vitamin By, (E) Question notattempted
T fqafm s wd-sifmd=, e forera & 3f 38 09 % G @ e R
@) forfm @ @) Fraifir € © forfi <l
O faaf sy, (B)....3TIaE W
128. Which of the following is not a social nehvorkmg website ?
(A) Snapchat (B).:X (formerly Twitter) (©) Hotmail
(D) . Facebook (E) =*-Question not attempted
Frfafed 4 @ s o W Seafdn ﬂamsz Té’f ??
&) kR C X (o =) © i
©) WEEE. (E) S v
129. Which one of the following Iron-ores known as Iron-Carbonate ? '
(A) Siderite (B) Magnetite (© Limonite
(D) * Haematite (E) Questionnotattempted
Frafafaa # A 3 die-smes 91 swrA-FERNe % w9 8 7 @ E 2
(&) fodme ® R © TEHrRe
O e ® gUE T
130. The mother of Shivani’s sister Ritu is Kavnta, the mother of Kavita's sister Neha is Maya. How is Neha related to
Ritu ?
(A) Maternal Aunt (B) +<Cousin (© Mother
(D)  Paternal Aunt (E)—Question notattempted
ol =t 77 g Fi A %Eﬁmaﬂm_ﬁmm% ﬁﬁamﬂgﬁwm%’
N Hreft \ EikC © =t
O e
++131.: - Choose the most appropriate Hindi translation for the given sentence :
f *. Your anger is justified. .
(A) 39 T e A B ATRTHASERTER ) e e WS
(D) . SA9=hT TE ﬁﬁo’—?ﬁ%l - (B) Questionnotattempted

132. A person is facing East. Then he turns 135° in clockwise direction and finally turns 180° in anti-clockwise
direction. In which direction is he facing finally?

(A)  South J (B) - South-East (© - North-Bast

(D) West (B)  Question notattempted
@mﬁa{émﬁaﬂtaﬁq@%nmm%mymaﬁﬁmﬁm%@hm 180°‘qg'1a;ﬁqﬂafqgnﬁ
m%lmazm&mﬁamg@aﬂ%@a?

@) = zfm o O sy
() TR ‘ (E) I ST
133. The Darrah Game Sanctuary was converted as
(A) Desert National Park p— (B) Sariska National Park
(© Mukundra National Park (D) Keoladeo “Ghana” National Park
() Question notattempted
ﬂigﬁnawm@_—#mﬁqﬁaﬁHWW| :
A) ST T (B) IR T © T
(O) Faerd 'O WA TE () AR I
: B23 a P.T.0.
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134. Which of the following state is known as Molasses basin ?

(A) Mizoram (B) Assam (© Tripura
(D) Manipur () Questionnotattempted

frefafad 8 @ B W 19T Arafad afed & TH | S S E?

(4) fsi (B)~, 3T © g

© =R (E).<, 3T ¥

135. Which of the following was NOT the im;iééaijate major challenge of Independent India ?
(A) Shape a nation that was united
(B) Developmentof the society =]
(O  Adopted representative democracy™
(D) Toaccelerate the rate of industrial dévelopment.
(E)  Question notattempted {.»L.,__,é._ﬁ
frefafea § 9, @HF YR F, B @ denioss T9@ AT @ o9 2
(A) T TR I STHR A ST THal & G F 1 gen o1
®) TS F fawE
© siiga wfafific eewd= ;
D)  Sieifie fawm F S H A wE _
(E) Sruia g

Read the passage and answer the questions that follow :

In an often-overwhelming world, staying sane means learning to remember and allowing to forget. Phones,
wallets, sunglasses, keys, a box of cornflakes, &éven a ukulele and, once, a gate valve. These are among the things that
passengers have forgotten in cabs in 2023, according to Uber India’s annual ‘Lost and Found Index’. Further insights
suggest that Delhi is the most forgetful city in India; that people are most prone to absentmindedness in the evening -from
7 pm to 9 pm - and that the festive days around Diwali tend to make pt.e'ople more distracted than any other time of the
year. No doubt this information is amusing, and even useful - one could, for example, learn to be vigilant about one’s
belongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Science of Memory and tl@_/}r_'t of Forgetting, the American neuroscientist Lisa Genova explains that
“a finely orchestrated balancing act between‘data storage and data disposal” is key to a well-functioning memory
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work or
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreak
of an early love or the time a colleague slighted you. In their own way, both help maintain sanity inan often-overwhelming
world. Consider the condition of the titular character in Jorge Luis Borges’s story ‘Funes the Memorious’ whose prodigious
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary and
lucid spectator of... an intolerably precise world”. i
136. The main idea in the write-up is :

(A)  Allowing us to be forgetful (B) - Asking us to be more vigilant

=C)  Making uslearn that forgetfulness is inevitable. (D) Urgingus to remember the things
(E)  Question notattempted

.

137. Word ’precise’ means :

% -

(Choose the most appropriate option froni below)
(A)  Abstract . (B)™ Specific (© Estimate
(D) Vague @ti-‘ Question not attempted
138. Accordh?g to Lisa Genova, remembering “a;d forgetting data from your memory is necessary because :
(4) this can make the person insane % (B) it helps maintain sanity
«L) itcan make the person happy an@p}qrjtented (D) forgetfulness in inevitable
() Question notattempted (S
, B23 28
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139.  The key to a well-functioning memory system is
«A)  balancing data storage and data disposal.

(B)  reminding to pay taxes, and forget heartbreaks.

(©  tonotethe progress of decay, fatigue and death.

(D)  very important to survive in an overwhelming world.
(B)  Question notattempted

140. Psamments, Orthents and Fluent are sub-orders of which of the following soil type ?

(A) Inceptisols (@) Vertisols © Alfisols
(D) Entisols ()  Question notattempted

T, Sifiiew it vtz Fretfafien 3 A form firg) 3.y 6 et #2

(A zRfeded ) afEe 1\,.,:.) © aferaed
D) ey B) s

141. Given below are two statements : '

Statement (I) : Dadudayal (Kabir of Rajasthan) w;s‘A;rn on Phalgun Shukla Navmi in 1542 AD in Dholidub
village of Alwar. 'S

v eman

-
.

Statement (II):  Dadu gave his teachings on Brahma, Jiva, Jagat and Moksha in a simple language

(Sadhukkadi). ™ .
In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are incorrect.
(B)  Statement (I) is correct but Statement (I1) is incorrect.
(©  Statement (I) is incorrect but Statement (I1) is correct.
(D) Both Statement (I) and Statement (II) are correct.

(E) Question notattempted
< Fye gy € - a
HREA(l):  FGEAA (TSI F FeAlR) F 5= aaal;;a;.jﬁt«ﬁga/ﬁ?ﬂsaﬂhﬁ 1542 AD & FIEH Y1 e

gl % .

HEA (11): mﬁWW(ﬁgm)ﬁm,sﬁé,;@asﬁwﬁrammmﬁm
TR FoA & it ¥, F g g e 4 @ wed Iuge 3w g |

) wmeA (1) 3 FHE (1) < e § ) =
(B) A (1) T B, Al FHAA (11) 7o ) -

© @wE()TmE AdmE Mm@ ()

©) e (1) R wET (1) I T € ()
® g |
142. Which of the following dams of Rajasthan produces Hydroelectric power
(A) MejaDam (B)  JawaiDam * (© SwaroopSagar Dam
(D) Mabhi Bajaj Sagar Dam (E)  Question notattempted
e o1 Frafatad 3 @ 8 [ i safagd e F SR S g ? .
(4) FnEY . () Y © @R Y
~(D) HE IS WIR Y (B) smﬁa‘;rga)
143, Which place of Sikar area is famous for gota industry,? ®
(Choose the most appropriate option from below) "':‘-
(A) Piprali (B) Khan(.lela:) © Nechwa
(D) Khoor - () Questionnpt attempted
1 ?
W#Wﬁaﬁammﬁﬁamﬁm%. sl
(fire ¥ @ ward Suge faehed g4) o)
@A) froaet s m}_ A © frem
D) ® ogaRa
, B23 29

CET Paper And Answer Key = Click Here

28

R.T.0.



144, mﬂﬁﬁmﬁa%mﬁi‘a;srmmmf%mm%?

@ v ® JF © A
—D) WA ® SR
145. The Council of Ministers of Indian Union i . - "
7 me M o Umcg;)ls m}lzlae;y:vgla{, 11:;ponsnbletothe. © Lok catibii
®) President (B Questionnotattempted
MR e ol WS W Wi 9 A s v Sar 2 £2
@) e ®) ¢ T © dw
O 5w ®) - FeRa we
146. Tea is an indigenous crop of T
(A) China (B) ;SrilLanka © India
(D) Britain I
R S S S (1)) g;—_i{l'lshonnotattempted
@ M ®) _sitew © Y
©) R ®) {_3Tefaver
147. All the aspects of population are discussed i " hich
(A)  Demography ®) mOceanw oogfr:};;\?uowmg mhm/sz)mm&mm7 phy
(D) Ecology B Question not attempted
Pt 3 4 e forvay fam o serien ot smamii w <= @ 22
(@) - SR ® g e © wERRE
(D) uRi=fast ® SEfEyE

148. WRGTY HiquA § ‘e’ Wmmmﬁ%mwéa
(A) TE 9 HEH ¥
(B) MW%fmmm%@
© Tl fafre w8 vy qmé:mﬁ‘-—-
D) STMFEIH

; 1|«-

|
[

149. ‘TR’ K § S suai £ 2 55
») W ® 3 T
® ¥ ® SERay ©
150. II;'lix:tia(;Ioba.lSumnﬁton traditional medicine was organised by the World Health Organisation in which state of
(A) Uttar Pradesh (B) Karnataka © Guj
g) Kerala () Questionnotattempted b
awmmmﬁmﬁmmméﬁaﬁmmm%ﬁqmﬁm
@) IWERW ® ~Fiew © TRm 2
D) F& . ® ‘f;’mﬁﬁm
E--oOo-
,-j
73 B23 30
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